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Test-I: Reasoning Ability
. Directions (Q. 1-7): Study the follow|ng information
carelally and answer the phven questiom,
A, B,C D,E F, Gand Hare sitting around a circular
tabile, fincing the centre, Each of theen has a diffirent profession,
viz doctor, engineer, architect, pilot, banker, teacher,
businessman and politiclen,

The politician sits fhird o the right of G. C is an immediste
neighibour of (& The architect sits second to the right of C. B
eits third to the right of H. H is neither a politician nor an
irchitect. Onlty cne person sits betazen C and the teacher, A
und F are immedisbe nedghbours of each other. Neither A nor
F is a palitician. The doctor sits second to the right of A. Two
peoptt sk betwieen D and the engincer. D is not a politician.
‘The pilot is ot an imenediate neighbour of the politician. The
benker sita second to the left of A,

L 'Who smengst the following is a businessman?

DA 2H 3HC  4HF 5D

2 What is the position of F with respect to the palitician ?

1) Innmmedite right 2) Third tothe left
3)Bocond to the right &) Fourth to the left
5y Seromd to the Jeft

3 Whosin[s)exactly between the teacher and the engineer?
IyCadH 2y Only the politician
3) Dby the doctar 4)Cend B
%) The architect and the banker

4. Which of the following is true with respect to the given
seating armrangement?
) Dis an immediate neighbour of G
2y G isa banker,

3} Thebankerand the teacher are immedisie neighbours
of each othe,

) The pilot sits exactly between the architect and the -

busriessman,
%) The doctor sits second to the right of the
busimeasman, .
S, Wit [z the profession of G7
* 1) Businessman ) Pilot
4) Teacher §) Architect
& Fourofthe following five anealike in a certain wiry based
on the given séating arrangement and thus form a group,
Which is the one that does not belang to that group?
1) G-Dector N E-Amchitect  3) H-Businessman
4)E-Polificin  5) D-Pilot
7 What {s the profession of E 7
1) Businessmani ) Architest  3)Banker
d)Politician ) Engineer

3) Banker

Directions (. 8-13): Study the following lnformatbon
to amwer ibe given questions:

In 2 certain code *for profit order now” is writhen as *ho ja
ye g&', ‘right now for him' is written s ga ve ja 5", 'place
order for profit’ is written as *ga bi ho ye' and ‘anly in right
order’ s writhen as “ve da ye zo”,

% - What is the code for *hien® ?

1) g Z)ve i

4)se 53 Canmat be determined
B, What does “bi* stand for?

Tjprafit  Ijorder 3)place 4)fr  Soow
W0, fove du’ could be a code for which of the following?

1} in reght spirits 2} only inprofit  3)order only him

4)place inright %) ordec oaly now
1. What is the code for ‘profit’?

hye 2 W G Hho
[2 'Which of the following may represent *caly for oow'?

Dibim  Zduwg g

4)z0enve Sydubija
U.‘ia'huti.-.hmd:ﬁ_:lr"mﬂn‘?

y pm b 4 Sk

Directions {Q. 14-20) Study the following information
to-answer the given questions:

BQ,R, 5, T,V and W are sitting in a straight line facing
north, Each one of them lives on a different flocs i the same
building which is rumbered from one to seven,

0} sits fourih to the left of the person living on the &th
flpar. Either () or the persom living on the Gth floor sits at the
extremse ends ofthe line,

Omnly one person sl betwesn O and W, W lives on the
3rd flooe. The person living om the 15t Aoor sits thind soright
of 8. 5 is not an immeediabe neighbor of W, Only-one person
[ives between T and the person who lives oa the 2nd floor.

Pand B are immediate neighbours of esch other, P doss
not live oo the &th floor. One who lives oa the Sth foor sits
third to right of the cne wha lives on the Tth floor.

14, Who amongst the followirg lives on the 4th flocr?

13 a0 k114 4)5 v
15, Om which of the following floors doesT [fve?

IBlg  2nd 3G Q)6 - 5Tt
16, How many floors ane there betwesn the floars on which

Yand P live?

I} Cine 2) Two

4y Fenur S Hone

Directions (0. 17-18): Four of the followlng five are
aliks in g certain way based on the given arrangement and
thiue form a group, Which i the oae that does not beloag o
that group?

I )W BT N8 4P NG

3) Theee
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18. 1)T-2ndfloor  2)R-7th floor
4)S-Sthfloor  5)Q-6th floor

19. Which of the following is true with respect to the given
arrangement?

3) V-3rd floor

1) The one who lives on the 5th floor is an immediate ‘

neighbour of S.
- 2) Vlives on the 1st floor.
3) T sits second to the left of the person who lives on
the 2nd floor.
4) R and V are immediate neighbours of each other,
5) The one who lives on the 4th floor sits at one of the
extreme ends of the line.

20. Ifall the persons are made ta live in alphabetical order

from the bottom-most floor to the topmost floor (ie P

lives on the 1 st floor, Q lives on the 2nd floor and finally

- W lives on the 7th floor), who would still live on the
same floor as the original arrangement?
R 2V W HT 5)S
Directions (Q. 21-25): Each of the questions below

consists of a question and two statements numbered I and IT

given below it. You have to decide whether the data provided
in the statements are sufficient to answer the question. Read
both the statements and give answer '
1) ifthe data in statement I alone are sufficient to answer
the question, while the data in statement II alone are
_not sufficient to answer the question.

* 2) ifthe data in statement I alone are sufficient to answer
the question, while the data in statement [ alone are
not sufficient to answer the question.

3) ifthe data either in statement I alone or in statement II
alone are sufficient to answer the question
4) if the data even in both statements I and II together
are not-sufficient to answer the question.
5) if the data in both statements I and If together are
necessary to answer the question,
21. Whoamongst A, B, C, D and E is the tallest?
L AistallerthanBbutshorterthanC, Dlsnotthetallest
H Two people are taller.than C,
2 Wiuch direction is Ali facing?
L IfKen, who is currently facing East, turns 90° towards
his right, he would face a direction exactly oppos1te
. tothe direction which Al is facing,

K IfPriyawho, is currently facing South, tums left, walks

1m and then takes a left turn again, she would face
the same direction as Ali. ;
23, Did 300 candidates appear for the written examination

for admission into College X?

L The principal of the college correctly mentions that
the number of candidates who had appeared for the
examination was more than 200, )

IL According to a statistical report, only 175 candidates
could qualify the examination,

24. How far is Point P from Point Q? (All the points he ona
straight line.)

L Point T is exactly midway between Points P and Q
Point T is 5 km towards west of Point R. o

IL Point Q is 2 km towards the east of PointR. =
25. How many brothers does A have?

L A, who is B’s brother; has two snblmgs

'IL D'is brother of A and is youngest in the family,

Directions (Q. 26-27): Four of the following five are
alike in a certain way and hence form 8 group. Which is the
one that does not belong to the group?

26. 1)Eye + 2)Kidney .. .- :3)Heart
4) Lungs 5)Ear

27. 1)Unique 2)Exclusive . . 3)Rare
4) Distinct 5) Extinct

Directions (Q. 28-30): Four of the following ﬂve are
alike in a certain way (based on the English alphabetical
series) and hence form a group. Which is the one that does
nothelongto thatgroup? -

28. )ABX 2)ABCDV 3)ABCDEFT
4)ABCW  S)ABCDES
~ 29. )DNFL 2)KRIT 3)HUIS
4)BQDO 5)IWLU
0. DCXIG  2)AZU 3)DWVT
4)BZQO 5)GTKI

Directions (Q. 31-35): In these questions, the
relationship between different elements is shown in the
statements. These statements are fpllowed by two
conclusions, Mark answer

1) if only conclusion I follows.

2)if only conclusion II follows.

3) if either conclusion I or I follows.

4) if neither conclusion [ nor II follows.

5) if both conclusions I and II follow.

31 Statements: A2B=C; B<D<E

Conclusions: L.D>A "ILE>C

32. Statements: L>U2K; Z<U<R

Conclusions: L.L>Z ILK<R
33, Statements: Y<J=P2R>I ) :

Conclusions: 1.J>1 ILY<R .
34. Statements: V2K>M=N; M>S; T<K’

Conclusions: LT<N ILV=§

35. Statements: F<X<A; R<XSE
Conclusions: LF<E " ILR<F
36. ' Readtthe following mformatxon carefully and answer the
question which follows. .
‘Parents should make strong efforts to curtail the extreme
fad for fashion from their children’s minds.’—A research
report.
Which of the following woyld weaken the. argument
 presented in the report most appropriately?
1) Excessive craze of fashion is- detrimental to the
development of a youngster’s personality. ,
2) Following fashion is not harmful but only till it is
done to certain reasonable limits.
3) The more fashionable a person, the greater are his/
her chances to sueceed in life.
4) Fashion takes away the time spent in constructive
 activities by the youngsters,
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5) Many schools and colleges have uniforms for their
students so as to discourage the craze of fashion
amongst them. ) -

Directions (Q. 37-40): Read the following information

and five statements given below it carefully and answer the
questions which follow:

People in the remae village of Kenal are now totally self- .

sufficient and lieral and no longer wait ill people from urban
areas dish outempowerment as a speciat privilege or favour.

(A) Maay of the residents formed a group and initiated

aself-help micro-credit programme which provided

help and support to the villagers to start a new.

. business, v
(B) There was a time when the villagers had to seek
favours from their urban counterparts. .
(O Kenal lacks the new advancements and
technological developments owing to a lack of urban
intervention. =
(D) Many othervillages are now approaching the people
. from Kenal to help them follow the same directions.
(E) Women in Kenal too are realising the importance of
empowerment and are taking every possible step to
add to their family's kitty. '

37

38.

Which of the statements numbered (A), (B), (C), (D) and
(E) can be inferred from the given statement? (An
inference is something which can be directly inferred
from the given facts.)

1)Only(A)  2)Only(B) 3)Only (€)
4)Only@D) - 5)Both(A)and (E) '

Which of the statements numbered (A), (B), (C), (D) and
(E) mentioned above would prove that intervention from
their urban counterparts can also be beneficialtoa certain
extent? ‘
D(A) 2)®) 3O

4)(D) HE

Which of the statements numbered (A), (B), (C), (DYand
(E) mentioned above represents a step which helped the
process of liberalization and empowerment of the

villagers?
NA) 2)®) »O)
49D 5)(E)

Which of the following represents a result /repercussion
of the success experienced by the residents of the village
Kenal?’ s
@)

9@

2©)

3) Both (C) and (E)
- 5D ‘

Directions (Q. 41-50): In egéli of the questions given below, wiifié'il“&iié of the following five Answer Figures on the right
should come after the Problem Figures on the left, if the sequence were continued? ‘

Problem Figures Answer Figures
4l taocerlorarclarorzjoarzTirzoan| jozPOAlOPODZA orzZo AjzPoD AjoPZAD
1 3 3 5
[T = sjo U x|u o @S ¥ C|x S e c Ala c of=C Ale C Ao C A
L 6l= s T|x c alo o ujc a = S T kIS T XIS T kT *is T %
o9 alca els 7 =la=1loeuoijz=o0ulzoujeuolzo u=ueo
T2 30 5
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—
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—
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o] AlO  x|A PP OlA * ‘ O|a Oja ol¢ OO_ O
ul| P o * | O P P x | x| % *
O xlp Al0 Ola  %x|O0 Of |x AP OO PP - AlA P
S 2 3 4 5
=7 |7 p7 jrp |P7 7T A |[PA |71 A T A T2
510 2 =pr lp2 DA a2 P2 |70 o |pO fproO
x 2 [= 2 g 0 2 2 2 A
' 1 2 3. 4 5
ToO DA [AO Tcl oT|i|rao To vo T AoT
6| A T (o} n] c o) 0 o) o] A
“ oc col Telao _loa calac Jca loc 0 ¢
1 2 3 4 5.
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Test-II: Quantitative Aptitude 11270 21420 11450
Directions (. 51-55); What will iy 0
-1 5] H it come
qston mark (1 nthe ollowingquestions? % V58 x VT2 4460 =1
SLQ21P-3717+59=7x8 Nz 2140 3)160
1)43.75 04235 34575 4180 5200 .
£)4724 5) Moae of these 60. 67 of 20123117 =0-23% of 789
Fo10 18 1490 )840 NS
52 j-s-"[!—ﬁ‘ =?+]__Iﬁ )54 50
Ly Directions (Q, 61-65): What will come n place of the
4 L] | 9 5 question mark (7] in the following number serie?
35 ey 3}23—2 6.8 10 18 8 ¢ ()
. 144 2)366 334
1= 4)156 5)Mane of these
R ) Nose of these & 135 6 121 A M
3. (64 +(0512) = (08 = (0.8 )3z 2)326 EJEr. ]
13 12 3o £33 5)Nome of these
46 5) Mone of these 6. 6% 352 200 1M & )
5, 34.5%0l 1800+ 124%0f 1500 = (2P + 78 1)67 nsm 362
N2 09 38l )57 5) None of these
4162 %) None of these B4 454 4T2 M5 40 436 (D
5. iFx12e9- =1 436 D56 34s4
Dis 4 ‘251;“1’;' 1% 4434 5) None of these
456 A | s Eﬂg * lmz}msm 3]||.3u
Directions (0 56-60): What spproximate vahus will eoase 4137 5) None of these

in place of te question mark (7} b the following questions?
{You are not expected to calenlate the-exact value)
565 T4l +3dx 12="=9+ 110

11420 2)250 )50

4)350 20

089 65 515
T T

1)840 Hsx 3)9m

4780 5)1000

Directions (Q. §6-70): In the following questions, two
equations membered ] and I are gheen, You have tosolve both
the equations and ghve snswer if

ifx>y !

Nifxzy

Jyifn<y

fagy

5)ifx =y or the relationship cannot be established.

66 L o1 +84=0 ILy* 25y + 156=0
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b Le-ds8=1729 Hy= 1743 + 1564=0
g 19 : 2x14)'V
BLERE  my o
P. L Jeax+184=1486 1L J]085 y+2081=2345
Ii‘._ﬂ o "I'_ -
oof-Fesk wfep
. The length of & rectanghe is three-fifthe of the sids ofa

squere. The radius of  circle ia equal to side of the
wquire, The circumference ofthe circle is 132 em, What
s the ares ofthe rectangle if tie breadth of the rectangle
is § em?

13 1124 sqem 2) 104.2 3g cm
3) 100.83qcm 4) Cannot be defermined
%) None of these

Five-ninths of & number Is equal to twenty five per
cent of the second namber. The second aumber s
equal 1o one-fourth of the third number, The value of
thio third number:fs 2960, What Is 30 per cent of the
first number? ’

nees 2999
Y656 4) Cannot be determined
5) None of these

. The ratio of the prescat age of Man) to that of Wasim
in 3 : 11. Wasim is 12 years younger than Rehana.

Rehana's age after 7 yearn will be 85 véars, What ls the

present ags of Mano|'s father, who is 23 years older
than Mancj?

1)43 years 2} 6Tyoan
1)45 yoaru 4) 69 yeard
) None of thess S

Dripash's monthly Income ia four times Suresh's monthly
Income. Suresh's monthily income is twenty per it more
than Jyoti's monthly income. Jyati's monthty income Is
22,000, What iy Dinesh's monthly income?

131,006,500 Ty1,05,500
3)T1,04,500 *]Ifl.ﬂfdﬂﬂ
1) None of these
[75. The smallestslde of 4 Aight-angled wisngle [ 8 cm less

tham the side of a square of pertmeder 56'cm. The second
largest side of the right-angled triangle is 4 cm leas than
the length of the rectangle of area 96 &) cm and breadth
8§ om. What in the largent :ldn nrm rI].b:-mgh.-d

trimngle?

1} em HNEam !}Il.‘l-cm

4)15em Noneofthese -

The ratio of the ad{ecent angies of & pesallelogram b

71 8. Also, the ratio of the sngles of g [mternl s 5: 6
+71 12, What is the sum of the smafier angle of the
pmHnl-ugnm and the second Iugut angle of the
crandrilateral? "o
1)168° 1) 218°

BJIH‘
4 5) Meme of thess. i

A

T8,

4)T1,32460

Raju rung 1250 metre on Monday end Fridey, Another
days b runs 1500 metre except for Sundey (He does not
run on Suaday). How many kilometre will he run in 3
weelks {first day starting from Monday)?

1} 125k 2) 20,5k 1 E5km
4)255km 5) Mone of these

The sum of nine consccutive odd numbers of Sed A s
£21, What is the sum of a different set of aix consecutive
even murmbers whoas lowest number iy 15 mare than e
lowest nomber of Set A?

1498 468

4458 ) Nons of thess

Jpave

, In & schoo] there are 250 students, out of wham 12 per

cent are girls. Each glel's monthly fee is 7450 and each
boy's monthly fes i3 24 por cént more than that of &
girl. What is the total monthly fee of girls and baya
together?

3)T1,32.680

DEI660  2)T,I6260

5) None of these

‘Ilqunm,g:l]:mdnflmhh I%ﬂmﬁnlw

speed of o car. The car covers a distance of 588 km in 6
bvouars: How much distance:will the train cover in 13 hoars?
13 1750 km 2) 1760%m 3) 1720km

#) 1850 kam. 5) Wone of these

Directions (. $1-85): Study the thlu graph

earefully to smwer the questions that follow

1.

Wumber of students (in thousand) :mdlbd in three
ﬁﬁnﬂﬁh‘lﬂlmﬁxdkﬂhﬂm
& Evlstrict C

EDHHI‘IA ‘M Digrct B

005 006 1007 03 2009 2000
Yean

Wht was the percentage inercase in enrolment in the
number of srudents in Disrict C in year 2007 2s compared

to that in the year?
11155 nies 1155
4115 5) Mone of these

£ 'What was the difference between the number of stisdents”

earofled in all the three districts together in the year 2008
and the number of students éarolled in District B over al

ﬂnmw
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1)12000 2)11000
41400 * 5)None of these '~
8. What was the approxrmate average numbe of students

enrolled in District A over all the years togethe; ?

15999 25666 ¢ 3)5444°
45333 5) None of thcse e
8. Inwhich yiar was the uriber of studeits enrolled inall

the three chstnets togéther {he second hrghest"

1)2006 !)2007 e 3)2008

42009 " '5)3010
85. Total number of students enrolled in Dlstrict A and

 District Btogether in'thé year 2010 was what' percentage
of the total number’'of studentk enrolled m District Ain

3)1100

the year 20087 b .
1)150 v 3)250' A
$H22 5) None of these o

Directions (Q. 86-90):" St’udy the table careﬁﬂly to

 answer the questions that follow!

Number of candidates appeared and qualified for'atest
(in hundred) in six different years rrom ﬂve '
dlfferentmnes. )

, Zow 4
Yr! P .4 Q. .4 . R [ .8 | T
| App { Quely Apprf Qual| App fQuet| Agp | Quat| App | Qual
2008 32| 25] 35| 14| 380 22) 42246226
[2006] 48] 34 {69 a2 [ 6| 4d {7433 [62] 48
J2007{ 65149 [77145]59]48)83}56]64]42
2008) 74 [ 57 s4f34[72]32]93)64]78]62
2009) 88 [ 48| 66] 52[86] 68 1a]s2]99]69]
2010} 92 | 56 | 106] 641 103} 7.4°] 142] 11.4] 118 9.4
Asp — Appeared; Qual— Quafied
8. In which year was in Zone S the difference between the
appeared candidates and qualrﬁed candidates the second

k]

lowest?
1)2005 2)2007 3)2008
242009 - 5)2010.

£1. The number of candidates who quahﬁed the test from
Zone R in the year 2010 was, gpprommately what per

centage of the nwnberof cdndsghtcs wlnappeared from .

ZonethheyearZOOB? oy
nis2, .. 214, 3)L42
132 5131
8. What was the average number of candidates appeared
from Zone T over all the yeqrstogether? e
D810 8IS 3)825
4805 580"

89. What was the. ratxo of the number of csndldates appeared
from Zone P in the year 2005 to the number. of candldates

 qualified fromZoneSmtheyearZQO??
4:7 L4909 4
4813 S)Noneofthese )

0. From which zone was the total nunii;er of eandldates
who qualified the test, the second hlghest in the year

2009 and 2010 together? -
NP 2Q 3R - S T
_Directions (Q. 91-98): Study the foljowing ple-chart
carefully to answer these questions: -
Total number of passengers in six different trams =4800
Percentage-wise distribution of passengers

TrainD \
2% Y

91. What was the average number of passengers travellmg

in Train A, Train C and Train FVOgether?
1)816 2)826 3)824 .
4)812 5) None of these

92. Ifthe cost of one ticket is T124, what is the tota] amount
- paid by passengers of Train B? (Assuming all the
" passengers purchased tickets amf éost o‘feach ncket is

equal) e
1)¥s3, 658 z)zss,sss 3)!53 sss
4)%53,468 . 5) None of these

93. The number of passengers in Train E is approxnmately
 what percentage of the total number of passengers i
/ Train B and Train Dtogether? .
N6y 2)69 s
454 59
M. What is the difference between the number of passengers
" in Train C and the number of p passengers in Train A?

1)280 - 2)250 3)230
4260 5) None of these” *
95. What is the total number of; passengers in Train D, Train
E and Train F together? -
1)279 - 2)3225 $3)2976
4)3125 5) None of thes¢

Directions (Q. 96-100); Study the followitg table
carefully to answer the questions that follow.
Semester fees (in ¥ thomand) for five différent
courses in six dlffercnt y&m

Cmme.
B Tech| M'Sc | BEd |-M Phil | Diploma
2005 | 11.5 58 1 751 47 | 18
2006 | 14.5 6.4 116 | 58 { .32
1.20071..200 | 102 ] 139:1 86 | 48
2008 22.2 14.6 158 1 1271 56
2009 ] 358 1 177 185 | 25.1 12.5
20107 507 . 209 | 226 189 | 149

9. What was the spproxlmate per cent’ increase in the
semester fees of B Ed course m&aeyearZOO?ascompared
to the prevnous year?

Years

£ Josh
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87, What mmumgemﬁechrmmmc
course over all the years together?
nTZM0 2TI2E0 NTIL060
4TI2070 H140 Lo

98 What was the difference between the total semester fee
charged for Diploma coarse over all the years together
and the fee charged for B Tech course in the year 20097
1)38,500 2)t8,000 3)¥6,500
417,000 ) None of (hese

§5. The sernester fee charged for M Phil course In the year
2008 wes eppeoximately what per centage of the semester

fee charged for MSc course in the year 20097
Jli) 84 1) 80
476 5}?1

IMMuwuﬂummmmrudmpdfwﬂlﬂm
courses together in the year 20067
17742500 nm.m 3241600
§)T42.200 5y Mons of thess

Test-IT1; General Awaréness with
special reference to banking
- industry

101, Which of the fallowing sector(s) make{s) maxlmum
eontribition to the national incame of india?
1)Services  2)Agriculture 3 Industry
d) Both Agriculture and Industry
1) None of these. -

102, Which of the I’nl.lmlmuminputnflhﬂ stheduled
banking stracture in India?
1) State Co-operative Banks - 2) Public Sector Banks
4) Private Sector Banks 4) Regional Rural Barks
%) Maneylenders

108, Which of the: Fu]lnwhguhnmas Plastic Money?
{A) Demand Draft
{E]Cl-d.ltcﬂ s -\.l Y 1

' 31*:*1*!5 .

1) Oy A NouyC

Q)BotiBandC S)AIIA,BandC
104. Which of the fallowing-teems is used in the field of
Finance and Banking?

I}ﬁngm - 2yQuantuh number
) Adjustment credlt ~ 4) Absolute 2er0
ST} would replace which of
1) Incomme fax *eo V) Corperate 18X
3) Capitel gains tax 4} Value added tax (VAT) -
%) All of these . N
106 Yuan i the currency of L
Japan 2) China 3) Indonesia
4y Myanenar §) None of these :

107, Marmalky, banks accept fived deposits for & muiniam
period of
1) 5 years
4)20 years
108. [FRS stands for
1) Intermational Financial Reporting Standards
- 2 Indian Financial Rating Standands
) Intemnational Finanelal Rating Standards
4) Indian Functional Regorting Standards
§) Mone of thesa
109, KYC guldetines followed by the banks have been framed
o the recommendations of the
1) Ministry of Home Affairs
2) Ministry of Rural Development
3) Indian Banks Association
4) Financial Intelligence Unit
5) Reserve Bank of India -
110, Bridge loans refer to )
[y Loans granted to constructlon companies for
constraction of bridges
-2 Loan granted to PWD for construction of bridges
OVEF Fivers
3) Interim finance allowed by banks to their customers,
pending disbursement of term loans by financial
Instltutions
#) Loan wﬂmmyﬁtmhn uf‘bmiﬂu
5) Mone of these
111. O which one of the followirng isswes fas TMF supponed
monetary policy of Indis?
1) Introduction of GST
2 St ulus foe agriculture sector
3 Concessions for foreign investment
4) Tightening of monetary policy
5} Mone of these
112 i the term STRIPS, the first [etter *5" denoles -
[ Single ) Bemall 3)Special
4) Savings 5) Separsle
113, When the I;omugraﬂtndﬁ:rpurdlmﬂfuﬁl!a goads, it
is called
1) Commumption loan - 2) White poods lorn
« 3)Consutner durabie loan 4) Business loan
5) Proprietary loan
114, Structure of Basel T1 is based on how meny pillars?
1) T 2)Ten Y1 Four
4) Five 5) Three
115. Expand the termn FREM.
1) Financial Responsibility and Business Management
2) Fiscal Responsibility and Business Managemmént
3) Finamcial Responsibility and Budget Mahagement
4} Fiscal Responsibility and Budget Management
5) Formal Responsibility and Business Management
116, The World Economic Outlook report of IMF indicates
that one of the below mentioned nations is expected lo
achieve highest percent GDP growth ratein 2011 Which
oot of the following is that country?

2)3 years 3)7 years

510 years.
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1) Brazil 2) Rssin

4)China §) South Africa
117, Which of the following nrmmmmmu his

mmuu-mmmﬂmhmw

3)Indha

[ RBI .
2)5[DEI ; .i.' i
;}Bmhrmw :

4) Mimistry of Finanos ;

5) Ministry of Commerce and Industry - -,

118, As per the recent press reports, use of credit cands in
indie has gane down, WWHMM’IM
the same?
{A]Iﬁghmmmmwh-mmm
(B) Rise in fraudulent activities relsted to upe of credit
{C) Govt pelicies which do not allow the liusch of new

credit cards by the banks - . ,
2) Only (B).
3) Only (C) 4)AI{A), (B)and (C) . -
5) Wone of these

llﬂ‘ﬁhﬂnlhﬁuﬂm’ﬂ;mumdmm&ldnf
Banking? :
I)MRI D) Refraction
3) Depoaliory Receipt ~ 4) Neutralisation™
5) Atoenic Numsber
L0, Reverse Repo is & inol used by RBI
1) Injesct HNguidity
. D) Absorb liquidity . - . .
J}Mﬁchqmﬂmrm‘mhuqm
4) To keep the liquidity it one bevel
) Hoae of these
121 mmmmm'mwm
Practices in Techndcal Wedical Educational lnstitwes and
Universities Bill 2000°. As per the blll, which of the
+ folbowing will new he treated ks # cognizable offonce?
1) Accepting capitution fee from the students
2} Ranning . private college
SJHmdhww]mmmmm&mmin
between
am-mwmmm
9 Mone of thess ;|

1) Only (A}

22, Many timés we read 1 term EBS !nd in bmkln.g

mwuummmmmcmm

i “CBS'?

1) Comphete
123, GNP stands for )

1) Gross Mational Product

) Group Met Product

3) Grand Muclear Process.

4) Oroup Metworking Frooess

S)Nooo of these
mmmmummﬂmm

#3 & COMMAn currency?

1)Dollar )Dinar 3)¥em  #)Besc i}m

) Credit
5) Maone of thess

- §) Continuonis

125, Which of the: following schemes is lnmched spacifically
for halping senior citizens to avail loan by mortgage of
their af property?

1) English Scheme
. ) Seor Capital loan Scheme

) Beverse Mongage Loan scheme ;
l}hmﬁﬂmhmdmm

5) Woneo of these

124, SEBlisatn
1) Advisory body
3) Constitutiona] body
v S Registernd & a society

127, Mixed Econonry means
I}ﬂo-mmu{mﬂudlnpm
1) Promoding both agricultare snd industries in the

mwﬁ}l [ R .:
. B Co-pxistenics of public and priyate sectors
4} Co-existence of the rich and the poor
5) Existence of wholesale and.retail markets
18, Which of the: folbowing booky has been arirten by Vikram
Seth? |
1)ASuitable Boy 2) A Bend inthe River -
3)FivePoint Someone &) Lolits
.. 5} Moos of these
lﬂ.mu:pudm [hrBlFR,hﬂt:mdenIndm
Industry, is .
1) Board for hmmtmrmtwuw
2) Burpau for Todustrial and Financlal Itﬂn]u:inn
3) Board for Investment and Farmal Reconstrustion
#) Board for Industrial and Financial Repnstnaction
%) Bureau for [mvestment end Finsncial Risonstraction
130, What is the SLR at present? .
&% 12%
4)25% - %) Noe of these
131. Who amongst the following is NOT a famous sconomist?
1) Amartya Sen 2) Octavio Prz
- 3)Mphammad Yanus  4) Peter A Diamood
§) Dale | Mortensen

2) Statutary body
4) Non-stratory body

3L
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132 Rabi sexson 15 considered between -
1) DecembertoMay - - 2) October to March -
3) May to October 4) April o September
5) January to June :

133, Which of the following is not 8 measure sdopted by the
Government of RB! to-control inflation’ :
1) Moaetary Policy

§) Pilanciel fnclusion
134, Which of the following is not 2 négotisble instrument?

135, The main function of the IMF is

I]mhhﬂnbﬂun-W'm of

member countries

7) to armange interntional deposits from banks

1) toact as private sector lending arm of the World Bank

£ 1o fisance investment loans 10 developing coantries
$) Nove of these ' '

136, During the recet global skowdown, almost ol major
countries were in recession. But, some countries liks
__mnd_-_ were hot going through resession. Which
ofthe following fis inthe blanks?

1) Eagland snd Americs - 2) ndia snd Ching
T)lpenind Chite  ~ 4)Germany aod Prisce
) belindend Groece Nt

137, T bewus fn ‘din is done after a ap of every
NSy W0y J)12yemn
HiSyean 5 Nooe ofthese |

138, Which of the followiag is NOT a Public Sector Unit?
1)HPCL * 2) Yes Bank J)HAL
4)SALL %) [DB! Bank

139, A per receet otifiation issud by RB, circulation of

which of the following colns shall be oéased wef 29th
Tune, 20117 :

1yt 2) $0 paise
)25 paise 4) Both 2) and 3) sbove
5) None of these :

140, Which of the following bodies promoted Securities
Trading Corporation of fndia Limited (STCH)jointy with
the Public Sector Banks?

1) Securities Exchange Board of India
pi) e wiF)
3)IDBILY
4) Reserve Bak of India
- HRDA -

146, Which of the followlg is the

141, Which of the following s the most active segment of the

mooey market in India?

1)Call Notice Money Market
%) véree Repo '
3) Cormmercial Paper (CP)

4) Certificate of Deposit (CD)
5)Norie of these

1402, Which of the following schemes is related exclusively to

Financial Inclution?
" 1) Swiwalupban 2) Swadeshi
4)S0SY 5) Noge of these

3) Swabhinian

163, Which of the following is the top dividend-paying

company of India ks per 8 study done by Ecoaomic
Times?

HONGC ymc
Hioc

HTC8
§) Tech Mhindra

144, Anaat Pai, better known g3 “Uncle Pal’, who died recently

s the creor of which af the following comc seres?
1) Chachs Chaodbery ~ 2)bidjesl
) Chandanama 4)Amar Ciitra Katha

5) Note of thews -

145. Consider the

(A) Deposit rates

(B) Base Rate

(C) Prime Lending Rate

Whtich of the sbove sre docided by the Reserve Bank of

India?

Noaly(A)  2)0nly()  3)0uir(C)
4) Bodi (B) and (C) 5) Neont of these
it borrower in [ndia?
1y indiari Government *2) Nbave Bank of India
7)indiss Reivays ' 4) State Governments

5) Rublic Sector Undertakings

147, Whtlch of the following would result 'in a fall in aset
2) WWM
3) RB! incroasing the Reverss Repo Rates
4) RBI allowing mare bazks 0 play
§) Nong of these .
utmwuuhwmu-n.mmm-w
ODPhas biwn projeseedat_for 2011-12.
D% I DA
Hems A%
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145, Additional deduction from income is proposed to be

continsed for fnvestment i:_asper:lnpmmmn!'_

Union Budpet 201112,
1} Benk deposits of thres yeirs
2) Long-term infrastructure bonds
3) Tax-fres bonds
4) New public Issuss
&) There is no such provision, .
150, Wha amongst the following was never the Finance
Minister of India? .
11D Manmahen Singh 2} P Chidambaram
3) Yashwamt Sinha 4} Kemal Nath

) Pransh Mukberjes -
Test-IV: General English

Directions Q) 151-160): In the fallowing pasage, there
are Manks, each of which has betn numbered. These
sumbers are printed below the passage and agalnsteach,
Mve words are suggested, one of which fits the blank

appropristely. Find out the appropriste word incach case.

Depending upon how humanity choases to use it
technology can enhames or (151) any aspect of life. The
realm af interpersonal communication generally Foels this
Irrpact first,

My times, throughout history, humanicy has changed
its modes of communication as saciety itself has (153)’ As
people began to spread out geographically, verbal
communication tursed o writing to make it moce (L53). Then,
people Immudwgrufmrin;hmﬁqmmluimud
writien cofmenunication between their communities to keep in
(154) with dne anather a5 travel became simpler. With the
advest of the tolepbone, people began 10 wonder If picking
v the receiver 1o call ane snother would eventually (155)
out other forms of communication. So far, as families and
Erfonds have moved away fran one anoths, the tekpiions,
even [ta cellular form, has albowed Fumanity to (L5 the
necessary links ambong it members.

Hesurally, now that computers, instant ssd bt messaging,
and osher forms af communication hgve found gheir way into
theworld, peaple not famillar with theseneciinalogics wonder
what they will do to the human race, Etigueste experts and thase
raised o writing formsal jetters often (187) thét e-mafl and lext

message fingo willreplace the lenguage ofpen and paper. This

will not {1889, and bath methods of commumication can survive
to enhance bumans enjayment of onc another"s company if the
next generation leams how to (159) both, Each form of
commmnication cam sarvive withits owmrules us people learm
which sibaations in life ([§0) for which level of formatlty and
which of lhe people they spend time with can consect beter

with which type of language, .

150, ) depressed ~ 2) Finish 1) problem
4}hinder S)featured 0 . o .

I5L 1}evalved 2) destroyed. 3y pladped

-lje:uinguisfynﬂ 5) waitad

I53 1)expensive  2)subjective  3)easier
dloud | S)ponable

L34 1) lines 2)faith 3) dislance
4touch  Seheck |

156, Iy pushed | . Z)cancel . 1) shells
Aty ., Hum .

I56. l}ensintain . - 2pteleport  3)out
) curhy )pregulation .

157, Ddomingte  Zelste | Hwory
4) say Sjmentioning

153, 1) agres Z) happen Toccurred

- Hewm ., ) possibly

19 1)forms . Dpeove - 3)accomplish
4) shady 5} exarrple

160, 1) take 2) requine 3)jurmp

4) stands 51 call )

Directions (161-165): Rearrange the following sis
senitences (A), (B), (C), (D), (E)and (F) bn the proper sequence
b0 form & wpw;mﬂ Ehe quantions

(A} Whe it comes 1o the namber of tigers though, |

think it i too small a rumber representing a species,

- {B), These days, everywhere I go, 1s0¢ boardings saying
oot AN Left, L

. AC) The thwes beivg, the Caspian, Billnese and Javan,

(L) Besides the small number, wp are stpadily loging 2

fiow species of these animaly as well

(E} Normally, I would groan and grumible on seeing this

figure of 1411 an my shopping bills s it sounds too
enuch

(F) At the end ofthe st centumy we b lost 3 out of§
tiger species. .
161, Which of the following should be the FIRST sentemce
A 2B WF . 4D SE
162. Which ofthe fullowing shiowd b the SECOND sensence
after -

I)F D e 4E 514
183, Which of the mhuingmw]dhm_ﬂﬂ]!ﬂm

afler TR
1A - ;}g He YYD 5E
164, Which of the following should be the FIFTH sentence
DA 2B ~ HF 4D 5E
165, Which of the followirg, should be the SIXTH (Last)
E b € 4B 51A
Directions (. 166-170) Which ef the phrases 1), 1),
3) and 4) given bekow sarh sentence should replace the phrase

 printed in bold in the sentence to'make |t grammutically

eorrect? If the sentence is correct a3 L s given and no
oorreetion Js reqibred ark %) ag the inswer. -

+ 166, Mayer the ane to mince words when it comes speaking

his mind, the captain'eriticised the bectic schedule of his

11 |
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1) comes 1o speaking 2 comes and speaks
3) cames to speak 4} come for speakc
5 N comrection required

167. Indians nhr more transparent than the Americans.
1} Farther ) farther more  3) greater
dymamymare  5)Nocomection required

168. He will not be joining the rat race, which starts around
ﬂmmnuﬂr;.rﬂutﬂb:huudmmdﬂwn dlise.
1) draw o close 2) drivwing & clogure
) draw to 8 close &) draw a.closer
5) Mo comectida required

169, Lights will go out around the world with hundreds of

people sety'to take part in the Earth Hour climate change

campaign.
1) st to take part zjmtmb:pm
3) sets for taking part  4) set for part

* Mo cormectioh required
170, With nasty viral infections do the roonds mﬂu:nmm
‘should glve A1t taket to proteét yourselt.

1) coining rounds 2) roundabout
jj-um;mmm -I}dmnmmdml
.5} No camection

regilred
Directidns (Q. 171-178): Each question below has two

Blnnke, each blank indieating that something hias been omit-

u.nmnmtuhmdmmd:bhukwhlnhmhm

ﬁmﬂﬂﬂpmmulwhm o

Im, wﬂmmmmqmmm
"t softipedaiting, delay tactics and collusian, hoping

© - thar thefdleinry wiil inmr:limhmufﬁ:
of decllon-making, i

' I)cmuﬂﬂuﬂmmt 2) vouch, trouble
B]Mrga.plmm 4}alep.hm'dm )
5 vote, task *

172 The: mgst mrlantfumkm
mmmqmwmmnw_,_
children abroatf fot education.

1) emergenice, affard 2) advent, fopus ~
3)decline, manage ~ 4) rise, wish
5) perception, go- o

I3, Crores of publicmoneyis_____ on parks in the city and
yet most of them are outof ____ for the public.
1) invested, limiis - Z) spent, bounds
3 bet, reach 4) put, areas
5) mude, boundaries

174, Rules are for thss who cannot them and not for
mummdmﬂmﬂmm to ignore them.
i) follow, demand © 2)set, opt  <3) beeak, suggest
4)find, ask ﬂ;hqﬂmg:,dmm:

174, Experts camnot _ énough on the benefits of
mre&uiumdwg:ubhh}wﬂhﬁt -

1) pressure, involving ' 2) strain, adding

Sjtmphuhﬁ.m'mﬁuﬂhg#}mcu,mludmg

5)state, mixing

Directions (). 176-185): Mﬂdluulumllnd
out whether there is any grammatical error or idiometée

" of 3 wedlthy

l.ﬂmrlmw_

Irrm'lnlt.mlmr,ﬂin}'.wm hl‘h{i:d-&plrtn’fﬂw:na

tesice. Thie nusaber of that patt s the answer, If theré s no

error, the answer is 5). (Ignore errors of punctuation, if

amy)

I‘E’l?-ummrwhupam 1 & détéctivé in the film, alleged
to hawe pushed the director 2) when' he asked him 1o
get into his costume 3)' ag it mﬁm]m -l}flﬂu

errar 5).

['T7, Winlsh was sdvised an 'opbeation’ I}fmbcrtdunﬂﬁny
years bagk, but 2 due to his ﬁnuﬂniu!mrﬂmmhﬂ-}-'
coild ndt undergoes the procedure. £} o error 5)

I78. Indin's largest corporate house may be 1Y fires to review
_ the sglection parameters after 2)/ striggling to shortlist
pmmlmd.lduu E-J.fhlhapﬁu{mm#."
Mo gmor 5)

179, This quiestions force.us. 1.t face the unpleasant truth

that ) / the policies of socia) justice hye 3)/ reached

- dead end, 4} Noemor 5, .

180, Many of the young poopls, 1)/ studying abroad agreed .
that 2 rebyming home was always, 3)/ an attrpctive

option, 4)/ No emror
181 mwmwm I}!‘ﬁﬁnﬂﬁauphhmu
that oreate an environmént 2N where tmnni scientific

mmmﬂapmmﬁMSFmdﬁ@m.

praducts benefiting society, 4) Na ermor 3,

mwhhﬂumwmwmw}uﬂﬁﬁm

,mhlhh:dmmumwmauwﬂﬂﬂmhlu;pmmﬂ;
md:r;;f:i}? ap.mmneily complex persgnaliy, 41 No

lﬁ,cmmmﬂﬁmw;lymmaqmﬂmﬂm:
" while 2 wamen are supposed 1o it 3t homs, 3V do,

housework apd bringlag upthe children. 4} No error 5)

ﬁmmmﬁmwl}'uluwwmm”

cﬂumchanmhpwzjfmbms#ﬂph

wmma}:ﬂmwmdnﬁmdmmml_[

fon. 4) Mo ey 5),

Iis Warkers battling to restore 1)/ -pmm !uppl;,' o the

. damaged reaciors 2)¢ have !mﬂuhn.i}"mwlrwup
to the secand reactor, -I]fHumq'.S}
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Direetions (2. 186-200): Read the follawing passage
earcfully and amswer the questions given below it, Certals
words have e priuted in bokd to belp you locabe (hem whlle
angwering some of ibe questions,

India's colleges and universities, with just o few
exceptions, have become large, unider-fimded, wngovemnshie
institutions. At many of them, pelitics has intraded into
caripas life, influenclrg scadernic gppolntments and decision
acrons leveds. Under-iovestment (s Hbrarles, informatloa

affacted morle in the scademic profession. The lack of
accountability means that teaching and ressarch performance
is seldoms megsured. The system provides few incentives 1o
perfoem. Buresucratic inertia hampers ehange. Stademt unrest
and oecaslonal faculty agitatlon disrupt operstions.
Nevertholass, with o semblance of normality, faculty
sdmisistrators are able o provide tesching, coordinate
examinations, snd awird degrees, :

Even thet senall top tier ofhigher education faces serious
prohliens, Many IT graduates, well trained in tachnology,
have chosen not o contribuie thedr skills to the burgsoning
tecknology sector in India, Half leave the coustry immedisely
upon graduatio o pursoe sdvinced study shrosd asd mos
do mot return. A stunaing B4 per cent of shadents in science
tnd technalogy flelds from Indin whe obstain dagrees in the
Linited States do moi return home immedintely following theér
study. Another significant group, of about 30 per cent,
docides 1o eam MBAs [n Indin because local salaries are
higher wnd wre lost 1o science and technology, A corps of
dedicated and sble teachers work ot the ITx and [DMs, but
the hure of joba sbroad and in the private sectar makes it

- ncressingly difficult to retain the best and brighes to the

seademic profesioe.
Few n India are thinking creatively about higher
education. There is no field of kigher education research.
Those in government & well as scademlc beaders seem
comtent to do the “wme old thing", Acadbic insthations
and systems hirve becoms Lrge and complex. They need
good data, careful analysis, and croative kdass In Ching, more
than two dozen bigher sducation feshreh conthes sad boveral
jervernment agencios are invalved in highar edacation policy
mmmmmmmnmﬁ
mmmmﬁ;mmnm
sirives. t0 compste in 8 sconoeny fn sroas that
require highly trained the quality of higher
ﬂmwhﬂmw&hﬂﬁ‘lm
cducated population base and its reservoir of a2 least
moderately well-trained untversity graduates have permittad
the country 1o move shead. Hut, the is flerce,

.ﬂhhm,hmhhmh‘mhhbu

universities with the aim of making a small growp of them
mmummmumnmm

intermationally competitive research uversities,

To compete successfully in the knowledge-based
econamy of the 215t cenpury, India nesds enosgh eniversitios
that not only produce bright graduates for export but can
alzo sopport sophisticated ressarch in § number of scientific
and scholarly flelds and produes st least somz of the
knowledge and technology needed for an expanding
econgery. How cam India build » higher sducation system
that will pemmale i to join developed economies? The newly
emerging private sector in higher education cannot speashead
Bcadentic growth, Several of the well-endowed snd affsctily
mandged: privaie (astitotions maintain reasongbdy high
stendards, sithough it s nof clesr whether these [stituions
will be able to sustain themselves in the latg nm. They can
help produse well-qualified gradustes in such flsids a

management, but they canmot form the basiy for -

comprehensive research universites. This sector lacks the
Tesourced bo biild the faclities squired for quality instruction
and research in the pclences. Mz of the private lnstindions
do not focus on advanced I the: scienices.

Oniy public universities have the potential tn be tmaly
world-class institutions, But thess instftotions kave not been
adequaiely of consistently supponted. The top instinitions
require sustained fanding from public sourses. Academi
salories must be high enough to sttract exosliint seientisis
and scholars. Fellowships and other grawts'should be
availably for bright sadents. An academic cubture that is
based o merit-bused porms and competition for advanévncat
rnd research funds 8. necensary compenent, & i n | ndicoun
mix of asstomonny to do creative ressarch and secoustability
1o ensure productivity. World-class universities require
world-chiss professory end studests and & clture fo rustaly
and stimuslate them, i
186, What, sctording to the auther, 15 the shorifall of our

povernment officials ax well s scadémlching when it

eomes to higher education”

) They are of the opinion that India hay the best system

of higher aducation In tha world,

3) They believe that it is the responalbility of privase

instiratlons to bring wbout & change in bigher
er' i

) They are utaware of the new developeneats In the
field of higher ecucation.

4y They are unwilling to vest mondy in higher education
desplts gesting mificlent grants for the purposs.

5} They do not think issavetively In the direction of

beinging about & change in hightr sducatios and are
shack in a e

157, Which of the following iafare the problems faced by
Indisn college and unlveraitie?
{A) Political intarfiererice in declslon making
{B) Lack of funding necarsary for improvement in
clasarsonms, libmiries, otz
{C) Miring of teachers on i part-tme hasls

13 |



Indian Overseas Bank PO Exam Solved Question Paper 2011

JAGRAN

1)Only(A) 2) Only (B) and (C)

3)Only{C) 4) Only (A)and (B)

SYAl (A), (B) wed (C)

lil.‘lhdmfﬂn&ﬂwumumﬂmmw

higher aducation?

wmm:ﬂiﬂfﬂmmmdmmr

. governmest bodies for thoughtful planaing.

mwmmpmmmmﬁm
facilyate the improvement prooces.

ﬂﬁwmmmhnlnunnmmmmmm
Jnternatiooully competitive.

1}Uhh'[ﬁ} ﬂﬂllhfim.ﬂdm

&) Onby (B)and (C}
Ihuml'mr has India progressed
higher education systen?
n Erbmdu[ﬁuiuuﬂ]umhﬂ'ﬁ'nm&m
i wmmmauuumw
ghan 1 actuslly ia
!} mmw&dhmmpmmmdmmn

{arge number of educated population

4) Because of its gound and progressive economic .

policles
L} {J\Iﬂuhmofhnmdwﬂl accumulated by it over

_ the years .
138, Wiklch of the fallowing is possibly the most appropriste

Mthe for the passage?
Iy Literacy in India
D State of Higher Education in India
j Uniwernities of India
p Institubes. in India )
%) Comparative Srudy of Higher Education in India and
China
IiLWﬁdhmm'ﬂb{mdﬂwmmmm
India Face in terms of comtribution to scademics?
{A}mwi:r;ﬂmimmmmminﬁbyﬂw
upemnmm
(B} Muny pﬂlﬂ?ﬁ'nm these institutes find
sbyoad and never netum.
fC) Graduntes from these instirutes who do not migrate
to foreign countries are unfit for teaching in these
yonly o 2) Only (C)
(A :
3)0aly (B)and (C) 41’5'!'!{-&}!“1{5]
5)Al{A), (B) and (C)
192. Which of the following is trise irl the context of the
passage?
{AJ Private universitias are well equipped to produce
gracustes who can gonduct research.
(B) India needs more unlversities that can cater 1o
mﬂmnmmmm
{C) Indin should completely stop gradustes from
leaving the country (0 PUrSUC & CANGES.
) Omly (B) 1]'3!1!!'{#]"3?

2 Josh
3) Only (4) Oty B (0}
SHAUA), B)ad(C)
193, What, according to the wﬂmr.wquﬁtmmum
make Indian universities workd-c
{A) S“mdnﬂlmﬂlwhtgﬂmnimndmmm
rescanch g;‘ L
(€) Proper suppart in. the form shopld by
provided to wnwlhgj
llﬁﬂr{h}mtﬂl _
3)AN (A), (B) and (C) ﬂuntrn;ﬂjmdﬂ:}
5)Only (A)

Direetions (. 194-197): Choase the word which s most
similar in megning to the word prinsed in hald 48 weed in the

pasisgn
1N»Jﬂm
1) Hurd working  2) Legal 3) Thoughtful
&Difficut 5 Shrewd
(95, CONTENT
[Ushappy ~ 2)Matter  3)Enclosure
&) Satisfied 5) Subsiaz
196, GRANT N
D)Agreement  2)Funding  3Allow
i Prompt | 7) Discouragement
[
?.irm _ 4) Margin
5) Mintivator

Directions (Q. 198-200) Choose the word which s most
nppuhllnmlunﬂhlﬂﬂm&huumdin

the passege.

198, FIERCE _ _
1) Stroag J}Wu}; 3) Tame
4)Scrawmy ,  5)Timid

199, BURGBONING = . Ty

© 1)Minimising  2)Growing 3) Escalating
4)Dwindling ~ 5)Easing

. ' * 2)Middle ) Average
1) Superlative Aver
4)Pleasant  5)Ordinary

Test-V: Computer Knowledge
201. TF you wish ta extend the length of the network without

aving the signal degrade, you would use a
1) resonamge ) rouder 3) gateway
&) switch Shrepeater

2. A repair for a known software bug, neually available ot
no chasge on the imternet, {s called

1) version 2) patch Ftotorial
4)FAQ ) rectifier
1, URL stamds for

l}umm-ummhLlnI}lUmnuJMLm
) Uniform Research Lis ) Uniform Research Locator
§)Ulni fortn Rasource Locator

14 |
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204, When data changes in multiple lists and all lists are not

‘updated, this causes
1) data redundancy 2) information overload
3) duplicate data 4) data inconsistency
5) data tepetition ‘
205. What is a backup?
1) Restoring the information backup
2) An exact copy of a system’s information
3) The ability to get a system up and runmng inthe -
event of a system crash or fallure ‘
4) All of these
5) None of these
206. The Internet is . ‘
1) a large network of networks (

2) an internal communication system for a business
3) a communication system for the Indian government
4) a communication system for some states of India
5) acommunication system for some cities of India

207. Computers that are portable and convenient for users
who travel are known as v

1) supercomputers 2) planners
3) minicomputers 4)file servers -
5) laptops

~ 208. What is the storage area for e-mail messages called?

1) Afolder 2) Amail box

4) The hard disk * 5) None of these
209. One advantage of dial-up Internet access is that

1) it utilises broadband technology

2)itis Indian -

3) it uses a router for security

4) modem speeds are very fast

5) it utilises existing telephone service

3)Aditectory

210. What is the process of copying software programs from )

secondary storage media to the hard disk called?

- 1)Configuration 2)Download - 3)Storage
4) Upload 5) Installation

211. Which process checks to enstre the componients of the

computer are operating and connected property?
)Booting  2) Processing
4) Editing 5 Starﬁng
212. A means of capturing an image (drawing or photo)so
that it can be stored on a compuiter is
1) Modem 2)Software . 3)Scanner
-4)Keyboard  5) Mouse
213. An error in a computer program is calleda
1)crash . 2) power failure  3)bug
~ 4)vins 5)fatal érror
214Acc¢ssoonu'olbasedonupersonsﬁngcrpnmsnsan
exampleof -
1) biometric identification
2) characteristic identification
3) characteristic security
4) fingerprint security
5) logistics
215 The patterns of printed lmesmmonproductsm called

3)Saving

2 Josh
I)prices ~  2)striping  3) scanners
4OCR - S)barcodes .
216. Mmm‘mmmm«nympmmefoumg
twopam inane-mail; - \
3) From: and o 4}med8ubm - IL
5)None of these.

217. The computer’s cnpablhty of dntingutshmg spoken
words i3 called

1) voice analysis: 2) speech aclﬂmlledgment
3) voice recognition 4)speech mrpmanon L
5) voedisaﬁm

21&Whmhofdwfollomngnsanadvantugeofmoumingan
application on the Web? - . S
1) The possibility of 24-hour access for users -
2) Creating a system that can extend globally -
3) Standardising the design of the interface -
4)Allofthese  5) None of these

219, The first page of a Web site is called the .
1)Homepage  2)Index 3)Java Script
4)Bookmark  5)IntroPgge -+ ..

20, ERP is an acronym for -, -

1) Enterprise Retirement Planning -~ -
2) Enterprise Relationship Planning !
. 3)Enterprise Resource Planning < ° _
4) Enterprise Reorder Planning by
S)Enterpmeketentmnl’lmnmg R
21 Thesoﬁwmthatallowsmmtosurfﬂn[nmnetm
called a/an
1) Search engine
.2)ImqnetSemceProvidar(18P) SR LY
: 3)Mu1nmedmappliuum ‘ g
_4)Browser -
S)IntcmetSurﬁnngwder
mmenssuesﬂ\atdealwiﬂnhccollowonmdmofdm
about individuals is :

1) access 2) publicity - 3)muracy”
4)property . S)privacy &

223. A term related to sending data to a satelliteis .
1) downlink 2)modulate - 3)demedulate
4)iplink  5)inter-relate - :

24, Online documents containing underlined phrases or
icons that a user can click in order to move immediately
to related parts of the current document ot ‘to other
documents with relative information are called - -
1)hypermedia  2) hypertext HHIML
4)URL S)FTP ‘

225, Physical security is concerned with protecting computer
hardware from human tampering and natural disasters
and___security is concerned with protecting software

from unauthorised tampering or damage.

1) data 2) eyber 3)InWmet-

4) metaphysical S)NHicm! o
26 Hackers' .

1) all have the same motive

15 |
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3} may legally break it compaters a3 bong & they do

) bresk into othar people's computzes
7. Unsuthorised copying of software %o bo used for
persorsal gain instead of for personal backups is called

1) program thievery ) dats snaching
3) software pirscy 4) program leoting
Sydety looting -
b8 Jumdk e-mall s also called
1) apann 2 apoafl’ 3) cookie crusmib
4)mlffer scripe - 5) spill
126, Wt is usually used for displaying information at public
places?
1) Monlion
FyiCverhisad Projections
3) Monitors and Overhead Projections
4) Touch Screen Kiosks ) Loud Speakers
[0, What I MP3? '
1) A Mouss &) A Prinder 3) A Soumd format
4)AScanner  5)AMobile Phone
{1, What is the most popular hardware -for moltimedia
creationa’ -
PG o 2) Minkcomputers
) Mainframe Computers 4] WAN:
5) Super Computers

b? Which of the following is needed for spund recording?
1) Bpeakisr 1) Microphane  3) Tabker
4) Mouss 5) Telephone
ped. The life span of a CD-ROM is
1) approximatelyone year 2)approwimately two years
1) approximately five years '
4) approximately twenty-five years
5y almost unlimited
t!um__mﬁm;:mmmlcuﬂmnﬂrd.
1) defalt HorE 3) peripheral
& imer-friendly  3)defaulter
|35, What sre the tw pants of an e-mail sddress?
1) User narne and street addreas
21 Legl name and phone namber
3) Uty name md domals name -
4} Iniials and password
-5} User nemea and reciplint name
136, Participants can see and hear each other in a/an
1yelectrontc mall system  Z) measage system
Yyteleconferenie &) bullstin board
%) Hoee of thess
| 0. Magnetic tape is not practival for epplications whese
duta rmwist be quickly recalled because thpe is
1)a random sccess medium '
2 epnsive
Ellﬁ-ﬂymﬂmw
) Brughe dnd ensily
5) & soquential access madium

738, Why should you delete unknown é-mall arachmens?
1) Itean make you land in Jail.
%) The person could track you down and hart you,
3} It is 2 bod mansars.
4) Tt might conéain a virus that could burt your computer.
%} Home of these .
79, How I3 it possible that both programs and dats can be
stoeed Inthe aame foppy disk?
1y A floppy disk has two sides, one for data and ae for

projgEama,
7 A fleppy disk has to be formatied for one ar for the
aitbier. '
3 WMMMMWMHMMM
stared |n any memery device.
&) Floppy disks can only store data, not programs,
5) Floppy disks are betier than CDs.
240, What @8 an embedded system?
[} A program that comes wrapped in & box
7 A program that ks permanent part of & computer
31 A computer that is parf of a larger comgiiter |
#) A computer and soltware system that cofitrals @
tnachlte o applinnce
) None of thess .
1. Which of the following will you require to hear music on
your coenputer]
[}VideoCard  2) Tape Recorder 3) Mouse
4) by Stick 5) Sound Card
42, The slgnal which shows that & computer is waiting for .
eammand from the user i3
1) prognpt 2) event
4} interrupt §) Wone of these
243, Which ofthe following softwares allows the wser io move
. hmpag:mpmm:huw:hhyclickingmﬂmlm
ahm:rﬁulmh:.rtypiruhm:dﬂmufﬂudzﬂmim

3)time slice

page?
1} Wb browser 2) Web search englne
1+ 43) Wb bome page 4) Web service
) Hane of these
244, Far viewing video CDs, you would use
17CD Player ) Wiedows Medin Player
3) Windows Video Player 4) Windows Movie Player
5)Mone of these
245, Executing moce than one program concurrently by one
USET ol ONe compubist 1§ KNowWn 05
|ymulti-programming 2} nultl-processing
3)time sharing " ) mudti-tasking
" §)multi-action

246, Which of the followifig controls the mansier of interactian
between the mser and the operating system?
1) Language translator  2) Platform

o yUser interface #) leon
5} Mone of these
247, You can keep your personal files/folders in
1) My Ealder 2) My Documents
)My Flles 4) My Text

5) My Collection
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248, Three types of cotmpact disks include CD-ROM CD-R, 3) an attached printer

0 ©* 4)avimschecking program

) W - 2)CD-RAM \3)CD-‘DVD , * 5)None of these ‘

4CDRW - 5)Noneofthese 250, Collecting persona! information and effcctwely posing
249. All computers must have S asanother individual s knownas

lyaword processing software = I)spooling ~ 2)spoofing ~  3)hacking

2) an operating system o 4) identity theft  5)None ofthese” -

17 |
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Answer:
1 (1) 26 (3) 51 | (4) 76 | (1) 101 | (1)
2 (3) 27 (5) 52 | (4) 77 | (4) 102 | (5)
3 (3) 28 (5) 53 | (3) 78 | (5) 103 | (4)
4 (5) 29 (2) 54 | (2) 79 | (2) 104 | (3)
5 (2) 30 (4) 55 | (5) 80 | (5) 105 | (4)
6 (4) 31 (2) 56 | (2) 81 | (4) 106 | (2)
7 (4) 32 (5) 57 | (3) 82 | (1) 107 | (5)
8 (4) 33 (1) 58 | (5) 83 | (2) 108 | (1)
9 (3) 34 (4) 59 | (3) 84 | (3) 109 | (5)
10 (1) 35 (1) 60 | (1) 85 [ (1) 110 | (3)
11 (5) 36 (3) 61 | (1) 86 | (2) 111 | (4)
12 (3) 37 (2) 62 | (2) 87 | (5) 112 | (5)
13 (1) 38 (3) 63 | (1) 88 | (4) 113 | (3)
14 (4) 39 (3) 64 | (3) 89 | (1) 114 | (5)
15 (1) 40 (5) 65 | (2) 90 | (5) 115 | (4)
16 (2) 41 (3) 66 | (4) 91 | (1) 116 | (4)
17 (3) 42 (1) 67 | (2) 92 | (2) 117 | (1)
18 (5) 43 (2) 68 | (5) 93 | (1) 118 | (2)
19 (5) 44 (4) 69 | (1) 94 | (5) 119 | (3)
20 (5) 45 (3) 70 | (1) 95 | (3) 120 | (2)
21 (5) 46 (2) 71 | (3) 96 | (2) 121 | (1)
22 (3) 47 (1) 72 | (2) 97 | (4) 122 | (4)
23 (4) 48 (4) 73 | (1) 98 | (4) 123 | (1)
24 (5) 49 | (3) 74 | (2) 99 | (5) 124 | (5)
25 (4) 50 (4) 75 | (3) 100 | (2) 125 | (3)
126 (2) 151 | (4) 176 | (2) 201 | (5) 226 | (5)
127 (3) 152 | (1) 177 | (4) 202 | (2) 227 | (3)
128 (1) 153 | (5) 178 | (2) 203 | (5) 228 | (1)
129 (4) 154 | (4) 179 | (1) 204 | (4) 229 | (3)
130 (5) 155 | (5) 180 | (5) 205 | (4) 230 | (3)
131 (2) 156 | (1) 181 | (3) 206 | (1) 231 | (1)
132 (1) 157 | (3) 182 | (1) 207 | (5) 232 | (2)
133 (5) 158 | (2) 183 | (4) 208 | (2) 233 | (3)
134 (5) 159 | (3) 184 | (4) 209 | (5) 234 | (1)
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